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There are two parallel rows with a sitting capacity of six on each side but only five 
people are sitting in each row keeping one seat vacant in each row. In row-1, Ravi, 
Rahul, Aakash, Mohit and Manish are sitting and facing south. In row-2, Abhinav, 
Rakesh, Abhishek, Tapash and Raman are sitting and facing north. All of them like 
a different fruit, i.e. Mango, Banana, Apple, Guava, Kiwi, Orange, Pear, Litchi, 

Berry and Cherry. Raman sits third to the right of Rakesh and likes Guava. 
Only two people sit between Abhinav and the vacant seat. Abhinav does 
not like Kiwi or Apple. Manish is an immediate neighbor of Aakash. 
Rahul likes Cherry. The one who likes Apple faces the one who likes 
Litchi. The one who likes Apple sits opposite the one who sits third right 
of the one who sits opposite Raman. Aakash is not an immediate 
neighbor of Mohit. Tapash, who likes neither Kiwi nor Orange, does not 
face the vacant seat. Neither Raman nor Rakesh sits at the extreme 
ends. Mohit faces Rakesh. Vacant seats are not opposite each other. Two 
persons sit between Tapash and Abhishek. The one who likes Berry faces 
the one who likes Guava. The person who likes Mango and Litchi are 
adjacent to each other. The vacant seat of row one is not adjacent of 
Mohit. Abhinav sits at one of the extreme ends. Rakesh does not like 
Mango and Litchi. The Vacant seat of row one does not face Raman and 
also it is not at the extreme ends. Abhishek is an immediate neighbor of 
Raman, who faces the person who likes Berry. Rahul faces the vacant 
seat in row-2 and sits third to the right of Aakash. Aakash likes Pear
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दो समानाांतर पांक्तियााँ हैं जिनमें प्रते्यक तरफछह बैठने की क्षमता है लेजकन प्रते्यक

पांक्तिमें केवल पााँच लोग बैठे हैं और प्रते्यक पांक्ति में एक सीटखाली है। पांक्ति-1 में, 
रजव, राहुल, आकाश, मोजहतऔर मनीष दजक्षणकीओर मुखकरके बैठे हैं। पांक्ति-2 
में, अजिनव, राकेश, अजिषेक, तपशऔर रमन बैठे हैं और उत्तर कीओर उनु्मख हैं।

उन सिी को एकअलगफल पसांद है, अर्ाातआम, केला, सेब, अमरूद, कीवी, 
सांतरा, नाशपाती, लीची, बेरीऔर चेरी। रमन राकेश के दायें से तीसरे स्र्ान पर बैठा
हैऔर अमरूद पसांद करता है। अजिनवऔरखाली सीट के बीच केवल दोव्यक्ति

बैठे हैं। अजिनवको कीवी या सेब पसांद नही ां है। मनीष, आकाशका जनकटतम
पडोसी है. राहुलको चेरी पसांद है। वहव्यक्ति जिसे सेब पसांद है उसका मुख लीची

पसांद करने वाले व्यक्तिकीओर है। वहव्यक्ति जिसे सेब पसांद है वह रमन के

जवपरीत बैठे व्यक्ति के दायें से तीसरे स्र्ान पर बैठे व्यक्ति के जवपरीत बैठा है।

आकाश मोजहतका जनकटतम पडोसी नही ां है. तापश, जिसे न तो कीवीऔर न ही
सांतरा पसांद है, के सामने खाली सीट नही ां है। न तो रमनऔर न ही राकेशअांजतम
छोर पर बैठे हैं। मोजहतका सामना राकेश से होता है। खाली सीटें एक दूसरे के

जवपरीत नही ांहैं। तापशऔरअजिषेक के बीच दो व्यक्ति बैठे हैं। बेरी पसांद करने

वाले का मुखअमरूद पसांद करने वाले व्यक्तिकीओर है। वहव्यक्ति जिसेआम

और लीची पसांद है वह एक दूसरे केआसन्न है। पांक्ति एककीखाली सीट मोजहत के

आसन्न नही ां है। अजिनव जकसी एकअांजतम छोर पर बैठा है। राकेशकोआमऔर

लीची पसांद नही ां है। पहली पांक्तिकीखाली सीट का मुख रमन के सामने नही ां है और

न ही यह अांजतम छोर पर है। अजिषेक, रमनका जनकटतम पडोसी है, जिसका मुख
बेरी पसांद करने वाले व्यक्तिकीओर है. राहुल पांक्ति-2 में खाली सीट कीओर
उनु्मख हैऔरआकाश के दायें से तीसरे स्र्ान पर बैठा है।आकाशको नाशपाती

पसांद है
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Who sits second to the right of the one who faces vacant 
seat of row one? A. Rahul B. Aakash C. Manish D.Abhinav
E. None of these

: Which of the following fruits does Tapash like? A. Apple 
B. Kiwi C. Banana D.Guava E. None of these 

Ravi is related to the vacant seat of row 1 in the same way 
as Tapash is related to Abhishek. So the vacant seat of row 
two is related to who among the following? A. Aakash B. 
Raman C. Abhinav D.Rahul E. None of these

Who sits diagonally opposite the one who likes Orange? A. 
Manish B. Raman C. Ravi D.Rahul E. None of these

Which of the following is true regarding Abhishek? A. Rakesh is 
sitting second to the right of Abhishek. B. Raman is sitting second 
to the left of Abhishek. C. Abhishek faces Aakash. D. Abhishek is 
facing the vacant seat of row one.. E. None of these
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P and Q are two boys and R and S are two girls. There are 
four adults, out of which A and B are two men and C and 
D are two women. There are two cars - Swift and Jazz -
each of which can accommodate four persons only. Two 
children and two adults must be in one car. P and B 
cannot be in one car. A and S cannot go in one car. C and 
D cannot go in one car. There must be two males and two 
females in each car.

P और Q दो लड़के हैं और R और S दो लड़जकयाां हैं। चार
वयस्कहैं, जिनमें से एऔर बी दो पुरुष हैं और सीऔर डी दो
मजहलाएां हैं। दो कारें हैं - क्तिफ्टऔर िैज़ - जिनमें से प्रते्यक
में केवल चारव्यक्ति बैठसकते हैं। एककार में दो बचे्चऔर

दो वयस्कहोने चाजहए। P और B एककार में नही ांहो सकते।
A और S एककार में नही ांिा सकते। C और D एककार में
नही ांिा सकते। प्रते्यककार में दो पुरुषऔर दो मजहलाएां

होनी चाजहए।
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If A and P go in one car, then who can be the other two members in 
the car? A) B and Q B) D and R C) B and C D) D and C E) None of 
these 

Which of the following statements is definitely true? A) A, D, P 
and R is not a correct combination B) B, C, Q and S is not a 
correct combination C) A, B, P and R can go in one car D) A, D, P 
and R can go in one car E) None of these

Which of the following can be acceptable combinations of the 
people in Swift and Jazz cars respectively? A) A, B, Q, S and D, R, 
P, C B) A, D, P, R and B, C, Q, S C) D, C, P, R and A, B, Q, S D) A, D, 
P, Q and B, C, R, S E) None of these

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Seven persons P, Q, R, S, T, U and V conduct 
workshop on Developing Managerial skills in 
seven different companies A, B, C, D, E, F and 
G on a different day of the week from Monday 
to Sunday. The order of persons, companies 
and days of the week are not necessarily the 
same as given. Q organizes workshop in 
Company D on Wednesday. S does not conduct 
workshop for companies A and C and conducts 
on the immediate next day when T conducts. T 
conducts the workshop for Company F. U 
conducts workshop for Company E on Friday. V 
conducts workshop on Monday but not for 
Company C and G. R conducts workshop for 
Company A but not on Tuesday.

सातव्यक्ति P, Q, R, S, T, U और V सात अलग-अलग
कां पजनयो ांA, B, C, D, E, F और G में सोमवार से रजववार तक
सप्ताह के एकअलग जदन में प्रबांधकीय कौशल जवकजसत

करने पर कायाशालाआयोजितकरते हैं। व्यक्तियोां, कां पजनयो ां
और सप्ताह के जदनो ांका क्रमआवश्यकरूप से जदया गया

समान नही ां है। Q बुधवार को कां पनी D में कायाशाला
आयोजितकरता है। S, कां पजनयो ांA और C के जलएकायाशाला
आयोजित नही ांकरता हैऔर T केआयोजित होने के ठीक
अगले जदनआयोजितकरता है। T कां पनी F के जलएकायाशाला
आयोजितकरता है। U शुक्रवार को कां पनी E के जलए
कायाशालाआयोजितकरता है। V सोमवार को वका शॉप
आयोजितकरता है लेजकनकां पनी C और G के जलए नही ां। R 
कां पनी A के जलए वका शॉपआयोजितकरता है लेजकन
मांगलवार को नही ां।
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Seven persons P, Q, R, S, T, U and V conduct 
workshop on Developing Managerial skills in 
seven different companies A, B, C, D, E, F and 
G on a different day of the week from Monday 
to Sunday. The order of persons, companies 
and days of the week are not necessarily the 
same as given. Q organizes workshop in 
Company D on Wednesday. S does not conduct 
workshop for companies A and C and conducts 
on the immediate next day when T conducts. T 
conducts the workshop for Company F. U 
conducts workshop for Company E on Friday. V 
conducts workshop on Monday but not for 
Company C and G. R conducts workshop for 
Company A but not on Tuesday.
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Who conducts workshop on Saturday? 
(a) R (b) S (c) T (d) Either S or T (e) None of These

On which day does S conduct the workshop? (a) 
Sunday (b) Saturday (c) Tuesday (d) Cannot be 
determined (e) None of These 

R conducts workshop on which day? (a) Saturday (b) 
Sunday (c) Tuesday (d) Thursday (e) None of These 

Which of the following combinations of person-
company and day is correct? (a) V-B-Wednesday (b) 
P-B-Monday (c) V-C-Monday (d) V-G-Sunday (e) 
None of These 

Who conducts workshop for Company C and on 
which day? (a) P, Thursday (b) P, Tuesday (c) S, 
Saturday (d) S, Sunday (e) None of These
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Eight persons A, B, C, D, E, F, G and H are seated around the 
two square tables. One square table is placed around the 
another square table in such a way that four persons are 
seated at the corners of inner square table and another four 
persons are seated at the corners of outer square table. 
Persons seated around inner square table are facing outside 
and persons seated around outer square table are facing 
towards the centre. Therefore the persons seated on the 
corners of the two square tables are facing each other. Each 
of them likes different colors viz. Violet, Orange, Black, 
Yellow, Red, White, Indigo and Blue. All the given 
information is not necessarily in the same order. E sits to 
the immediate right of A. E who likes Orange faces the 
person who likes Violet. The person who likes Yellow sits 
second to the right of the person who likes Violet. C is 
facing inside the table and is facing the person who likes 
Indigo. The person who likes Red is facing the person who 
likes Black. The person who likes Blue sits second to the left 
of person who likes Red. F likes White and is facing the 
person D. G and H are seated diagonally and both of them 
are facing outside the table. H did not face the person who 
likes Blue.

आठव्यक्ति A, B, C, D, E, F, G और H दो वगााकार मेिो ां के चारो ां
ओर बैठे हैं। एक वगााकार मेि को दूसरी वगााकार मेि के चारो ां

ओर इस प्रकार रखा गया है जक चारव्यक्तििीतरी वगााकार मेि

के कोनो ां पर बैठे हैं और अन्यचारव्यक्ति बाहरी वगााकार मेि के

कोनो ां पर बैठे हैं। िीतरी वगााकार मेि के चारो ांओर बैठे व्यक्तियो ां

का मुख बाहर कीओर तर्ा बाहरी वगााकार मेि के चारो ांओर बैठे

व्यक्तियो ांका मुखकें द्र कीओर है। अतः दो वगााकार मेिो ां के

कोनो ां पर बैठे व्यक्तियो ांका मुख एक-दूसरे कीओर है। उनमें से
प्रते्यकको अलग-अलग रांग पसांद हैं अर्ाात। बैंगनी, नारांगी, 
काला, पीला, लाल, सफेद, नीलऔर नीला। िरूरी नही ां जक दी
गई सिी िानकारी इसी क्रम में हो। E, A के ठीक दायें बैठा है। E 
जिसे सांतरा पसांद है, उसका मुख बैंगनी रांग पसांद करने वाले

व्यक्तिकीओर है। वहव्यक्ति जिसे पीला रांग पसांद है, वह बैंगनी
रांग पसांद करने वाले व्यक्ति के दायें से दूसरे स्र्ान पर बैठा है। C 
का मुख मेि के अांदर हैऔर वह उसव्यक्तिकीओर उनु्मख है

जिसे नील पसांद है। लाल रांग पसांद करने वाले व्यक्तिका मुख

काला रांग पसांद करने वाले व्यक्तिकीओर है। वहव्यक्ति जिसे

नीला रांग पसांद है वह लाल रांग पसांद करने वाले व्यक्ति के बाएां से

दूसरे स्र्ान पर बैठा है। F को सफेद रांग पसांद हैऔर वहव्यक्ति D 
कीओर उनु्मख है। G और H जतरछे बैठे हैं और उन दोनो ांका मुख
मेि के बाहर कीओर है। H का मुख नीला रांग पसांद करने वाले

व्यक्तिकीओर नही ां है।
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Eight persons A, B, C, D, E, F, G and H are seated around the two 
square tables. One square table is placed around the another 
square table in such a way that four persons are seated at the 
corners of inner square table and another four persons are 
seated at the corners of outer square table. Persons seated 
around inner square table are facing outside and persons seated 
around outer square table are facing towards the centre. 
Therefore the persons seated on the corners of the two square 
tables are facing each other. Each of them likes different colors 
viz. Violet, Orange, Black, Yellow, Red, White, Indigo and Blue. All 
the given information is not necessarily in the same order. E sits 
to the immediate right of A. E who likes Orange faces the person 
who likes Violet. The person who likes Yellow sits second to the 
right of the person who likes Violet. C is facing inside the table 
and is facing the person who likes Indigo. The person who likes 
Red is facing the person who likes Black. The person who likes 
Blue sits second to the left of person who likes Red. F likes White 
and is facing the person D. G and H are seated diagonally and 
both of them are facing outside the table. H did not face the 
person who likes Blue.
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Who among the following persons sits second to the right of H?
A. The person who likes Indigo B. The person who likes Blue C. 
The person who likes Black D.The person who likes Violet E. 
Cannot be determined 

Who among the following persons likes Indigo color? A. H B. G C. 
C D.E E. Cannot be determined

Who among the following persons is facing outside the square 
table? A. The person who likes Red B. The person who likes 
Orange C. The person who likes Blue D. F E. H

Which of the following colors is liked by the person who sits to 
the immediate left of A? A. Orange B. Blue C. White D.Red E. 
Indigo

Who among the following persons are facing each other? A. F 
and the person who likes Red B. D and the person who likes Blue 
C. E and the person who likes Red D. .D and the person who likes 
White E. . None of these 
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Eight persons L, M, N, O, P, Q, R and S were born in the 

years 1963, 1967, 1976, 1979, 1983, 1987, 1990, and 1997 

not necessarily in the same order. They were born in the 

places Indore, Raipur, Hydrabad, Pune, Kanpur, 

Manipur, Vizag and Noida not necessarily in the same 

order. They were born on the same date i.e. on 17th

October. Make the age calculations as on 17th October 

2019. S was 4 years elder to the one born in Pune. The one 

born in Pune was born at a gap of 4 persons from P. 

Number of persons elder to the one born in Kanpur was 

one more than that of number of persons younger to R. R 

was 8 years elder to O. Not more than two persons were 

born between S and R. The one born in Raipur was born 

after 1983 but not on even year. N was born in Indore at a 

gap of 4 persons from Q. The one born in Noida was born 

just before M but not eldest. Nobody was born between 

the ones born in Vizag and Raipur. The person born in 

Manipur was aged 36 years old. O was not born in Raipur 

and L was not born in Kanpur and Manipur. The person 

born in Hyderabad was elder to the one born in Kanpur.

आठव्यक्ति L, M, N, O, P, Q, R और S का िन्मवषा 1963, 
1967, 1976, 1979, 1983, 1987, 1990 और 1997 में हुआ
र्ा, िरूरी नही ां जक इसी क्रम में हो। उनका िन्म इांदौर, 
रायपुर, हैदराबाद, पुणे, कानपुर, मजणपुर, जविागऔर
नोएडा के स्र्ानो ां में हुआ र्ा, िरूरी नही ां जक इसी क्रम में
हो ां। इनका िन्म एक ही तारीख याजन 17 अकू्टबर को हुआ

र्ा। 17 अकू्टबर 2019 कोआयु की गणना करें । S, पुणे में
पैदा हुएव्यक्ति से 4 वषा बड़ा र्ा। पुणे में पैदा हुएव्यक्ति
का िन्म P से 4 व्यक्तियोां के अांतराल पर हुआर्ा।

कानपुर में पैदा हुएव्यक्ति से बडे़व्यक्तियोांकी सांख्या R से
छोटे व्यक्तियोांकी सांख्या से एकअजधक र्ी। R, O से 8 वषा
बड़ा र्ा। S और R के बीच दो से अजधकव्यक्तियोांका िन्म

नही ांहुआ र्ा। रायपुर में पैदा हुएव्यक्तिका िन्महुआर्ा।

1983 के बाद लेजकन साल पर िी नही ां। N का िन्म इांदौर में

Q से 4 व्यक्तियोां के अांतराल पर हुआर्ा। नोएडा में पैदा

हुएव्यक्तिका िन्मM के ठीक पहले हुआर्ा लेजकन

सबसे बड़ा नही ांर्ा। जविागऔर रायपुर में पैदा हुए लोगो ां

के बीच जकसी का िन्म नही ांहुआ। मजणपुर में पैदा हुए

व्यक्तिकी उम्र 36 साल र्ी। O का िन्म रायपुर में नही ां

हुआ र्ाऔर L का िन्मकानपुरऔर मजणपुर में नही ांहुआ

र्ा। हैदराबाद में पैदा हुआव्यक्तिकानपुर में पैदा हुए

व्यक्ति से बड़ा र्ा।
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Eight persons L, M, N, O, P, Q, R and S were born in the years 

1963, 1967, 1976, 1979, 1983, 1987, 1990, and 1997 not necessarily 

in the same order. They were born in the places Indore, Raipur, 

Hydrabad, Pune, Kanpur, Manipur, Vizag and Noida not 

necessarily in the same order. They were born on the same date i.e. 

on 17th October. Make the age calculations as on 17th October 

2019. S was 4 years elder to the one born in Pune. The 

one born in Pune was born at a gap of 4 persons from 

P. Number of persons elder to the one born in 

Kanpur was one more than that of number of 

persons younger to R. R was 8 years elder to O. Not 

more than two persons were born between S and R. 

The one born in Raipur was born after 1983 but not 

on even year. N was born in Indore at a gap of 4 

persons from Q. The one born in Noida was born just 

before M but not eldest. Nobody was born between 

the ones born in Vizag and Raipur. The person born 

in Manipur was aged 36 years old. O was not born in 

Raipur and L was not born in Kanpur and Manipur. 

The person born in Hyderabad was elder to the one 

born in Kanpur.
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1. Who among the following person is from Pune?

(a) P

(b) Q

(c) L

(d) R

(e) O

2. Which of the following statements is true?

(a) M age is 40year

(b) N age is 52year

(c) O age is 29year

(d) Q age is 24 year

(e) L age is 52 year
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3. Four of the following are alike in a certain way

and thus form a group. Which of the following

does not belong to the group?

(a) N - Noida

(b) M - Kanpur

(c) P - Raipur

(d) S - Pune

(e) O - Noida

4. If ‘Hydrabad’ is related to ‘43’ and ‘Indore’ is

related to ‘36’ in a certain way. Then who among

the following will be related to ‘Manipur’?

(a) 24

(b) 29

(c) 32

(d) 36

(e) None of them
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Eight Indian cricketers Gambhir, Dhoni, Raina, Yuvraj, Dhawan, 
Rohit, Rahane and Virat are sitting around a circular table in such a 
way that some of them facing towards the centre and some of them 
facing outside the centre. Each of them scores different score in one 
day match vs. Srilanka. Left hand batsman Yuvraj, the one whose 
score is 31 sits third to right of wicket keeper, Dhoni, who faces 
inside the circle. Virat who is not an immediate neighbor of 
Gambhir, faces same direction as Yuvraj and missed his 32nd century 
by three runs, sits second to the left of the cricketer whose score is 
exact half century. Raina is an immediate neighbor of the cricketer 
whose score is 50. The cricketer whose score is 92 sits third to the 
left of the cricketer whose score is 31. Dhoni sits third to left of 
Gambhir who is not an immediate neighbor of Rahane. Immediate 
neighbors of Gambhir face same direction. The cricketer whose 
score is 85 sits second to the left of the cricketer whose score is 25. 
Indian Captain Virat sits third to right of Raina who is not an 
immediate neighbor of Dhoni or Yuvraj. Rohit sits fourth to right of 
Yuvraj who sits immediate left of Dhawan. The cricketer whose score 
is 12 sits second to the left of the one whose score is 92. Rahane sits 
second to the right of Dhoni, who does not score 85. More than two 
cricketers who are facing the same direction can’t sit together. One 
of the cricketers' score is 40.

आठिारतीय जक्रकेटर गांिीर, धोनी, रैना, युवराि, धवन, रोजहत, 
रहाणेऔर जवराट एक वृत्ताकार मेि के चारो ांओर इस प्रकार बैठे

हैं जक उनमें से कुछ कें द्र कीओर उनु्मख हैं और उनमें से कुछ कें द्र

के बाहर कीओर उनु्मख हैं। उनमें से प्रते्यक ने एक जदवसीय मैच

बनाम श्रीलांका में अलग-अलगस्कोर बनाए। बाएां हार् के

बले्लबाि युवराि, जिसकास्कोर 31 है, जवकेट कीपर धोनी के
दायें से तीसरे स्र्ान पर बैठा है, जिसका मुख घेरे के अांदर है।

जवराट, िो गांिीर का जनकटतम पड़ोसी नही ां है, युवराि के समान
जदशा कीओर उनु्मख हैऔरअपना 32वाां शतक तीन रन से चूक
गया, वह जक्रकेटर के बाएां से दूसरे स्र्ान पर बैठा है जिसका
स्कोर ठीक अधाशतक है। रैना उस जक्रकेटर का जनकटतम

पड़ोसी है जिसकास्कोर 50 है। जिस जक्रकेटर कास्कोर 92 है, 
वह उस जक्रकेटर के बाएां से तीसरे स्र्ान पर बैठता है जिसका

स्कोर 31 है। धोनी गांिीर के बाएां से तीसरे स्र्ान पर बैठता है िो
रहाणे का जनकटतम पड़ोसी नही ां है। गांिीर के जनकटतम

पड़ोजसयो ांका मुख समान जदशा कीओर है। वह जक्रकेटर जिसका

स्कोर 85 है, उस जक्रकेटर के बायें से दूसरे स्र्ान पर बैठा है
जिसकास्कोर 25 है। िारतीय कप्तान जवराट रैना के दायें से
तीसरे स्र्ान पर बैठा है िो धोनी या युवरािका जनकटतम

पड़ोसी नही ां है। रोजहत, युवराि के दायें से चौरे् स्र्ान पर बैठा है
िो धवन के ठीक बायें बैठा है। जिस जक्रकेटर कास्कोर 12 है, वह
92 केस्कोर के बाएां से दूसरे स्र्ान पर बैठता है। रहाणे धोनी के

दायें से दूसरे स्र्ान पर बैठता है, िो 85 रन नही ांबनाता है। एक ही
जदशा का सामना करने वाले दो से अजधक जक्रकेटर एकसार् नही ां

बैठ सकते हैं। जक्रकेटरो ां में से एककास्कोर 40 है।
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Eight Indian cricketers Gambhir, Dhoni, Raina, Yuvraj, Dhawan, 
Rohit, Rahane and Virat are sitting around a circular table in such a 
way that some of them facing towards the centre and some of them 
facing outside the centre. Each of them scores different score in one 
day match vs. Srilanka. Left hand batsman Yuvraj, the one whose 
score is 31 sits third to right of wicket keeper, Dhoni, who faces 
inside the circle. Virat who is not an immediate neighbor of 
Gambhir, faces same direction as Yuvraj and missed his 32nd century 
by three runs, sits second to the left of the cricketer whose score is 
exact half century. Raina is an immediate neighbor of the cricketer 
whose score is 50. The cricketer whose score is 92 sits third to the 
left of the cricketer whose score is 31. Dhoni sits third to left of 
Gambhir who is not an immediate neighbor of Rahane. Immediate 
neighbors of Gambhir face same direction. The cricketer whose 
score is 85 sits second to the left of the cricketer whose score is 25. 
Indian Captain Virat sits third to right of Raina who is not an 
immediate neighbor of Dhoni or Yuvraj. Rohit sits fourth to right of 
Yuvraj who sits immediate left of Dhawan. The cricketer whose score 
is 12 sits second to the left of the one whose score is 92. Rahane sits 
second to the right of Dhoni, who does not score 85. More than two 
cricketers who are facing the same direction can’t sit together. One 
of the cricketers' score is 40.
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: Score of whom among the following is 40? A. Rohit B. Dhawan 
C. Dhoni D.Gambhir E. None of these 

Which of the following statements is true? A. Dhoni and Rohit 
face same direction B. Rahane faces outside the circle C. Two 
persons sit between Dhawan and the one whose score is 12 
D.None is true E. All are true

Which of the following combinations is true? A. Yuvraj-85-faces 
outside B. Gambhir-40-faces inside C. Virat-97-immediate left of 
Rahane D.None is true E. Raina-12-opposite of Yuvraj 

How many persons are sitting between Raina and the one whose 
score is 25, counted to the right of Dhawan? A. One B. Two C. 
Three D. Four E. None 

Who among the following sits second to the right of Rahane? A. 
The one whose score is 97 B. The one whose score is 12 C. The 
one whose score is 50 D.The one whose score is 92 E. The one 
whose score is 25 
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